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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and totalnumber of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 58 / OSS /1,'Set - A on the Answer-Book.

5. (@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer in any

one of the languages list: ow :
English, Hindi, Urdu, jabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri mese,Nepali, Kashmiri, Sanskrit and Sindhi.
You are require dicate the language you have chosen to answer in the box provided in the
Answer-Book. N

(b) Ifyouchoo (&b 'write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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Note:i)  All questions are compulsory.

ii) Marks allotted to each question are indicated against it.

iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B), (C) and
(D), out of which one is most appropriate. Choose the correct answer among the
four alternatives and write it in your answer-book against the number of the ques-
tion. No extra time is allotted for attempting multiple choice.questions.
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1. The measure of Central ten@qcy around which maximum concentration of items
occurs is: gﬁ\ [1]
(A) Mean (§’ (B) Median
(C) Mode QQ\Q (D) Quartile
S v o g okt Ed e o A 8, T E
(A) v (B) wferem
(C) wgeh (D) wgde

2. The general relationship between price and demand is referred to as the following
type of correlation : [1]
(A) Positive (B) Negative
(C) Linear (D) Perfect
HAA AR AT o o= T Gay FafalRaa TR & 90y wgaran g ¢
(A) e (B) =UTeHe:

(C) Y= (D) ui
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3. Normative economics deals with : [1]
(A) Whatis?
(B) What should be?
(C) What has happened in the past?
(D) What s likely to happen in future
JEIT HUTE THHT ST HEAl 3 7
(A) wmE?
(B) = g =nigu ?
(C) oelia © o/ gamm A1 ?
(D) wifersa ® @ g R AT 27

4. Total utility of one unit a good is 5 utils and that of 3 units is 10 utils. What is

marginal utility of 3 units? [1]
(A) 25 B).5
(C) 175 Q (D) 10

Uk %] hl Ueh 3ehTS <ht ¥ 5gfect & 31X 3 3o At 10 geet 2 | 3 sovig <ht wimia

(A) 2.5 @QQ (B) 5

< 75 (D) 10
5. Shortrun production function shows the changes in total output when: [1]

(A) Only one input is increased (B) Only two inputs are increased

(C) Only few inputs are increased (D) Allinputs are increased

HCUTHTEA ITUTEH Tetd el ScdTed § Ui et g 91

(A) HIAA Tk AT § dleg i AT (B) haet &t SITdl | Jleg <hi ST |

(C) ae B Tl | Jhg H A | (D) =t st ® dig ™ |
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6. Markets in microeconomics are classified on the basis of :

(A)
(B)
©)
(D)

Number of firms
Differences in products produced by different firms

Freedom of entry and exit to firms

All the above

e I § FTIRI i 36 SR W ke foha w2 :

(A)
(B)
(©)
(D)

Tt R T

farfirm vt g Seonfea Saumgt ® Tt
wHl Sl TAw A afgrea R A
Uk At

7. The basic economic activity is:

(A)
©)

Production (B) Consumption

Capital formation (D) . All theabove

SRR ik fshan T2 2

(A)
©)

et (B) Suwm

gsft frrfor \\Q® (D) Iws a4t

(§§

8. GNP, , equals: @Q\Q

(A)
(B)
©)
(D)

) Q

National &ome

NNP,_ + depreciation

National-income + depreciation + net Indirect Tax

NNP,__+ net indirect Tax

TR Yo W Thel TS 3eUTE S8k T 2

(A)
(B)
©)
(D)
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9. Consumption depends upon : [1]
(A) Saving (B) Investment
(C) Income (D) None of the above
I99RT 38 W A e 2
(A) =@ (B) fm
(C) m (D) Sweh | & i3 T

10. Which of the following is primary function of money. [1]
(A) Store of value (B) Measure of value
(C) Transfer of value (D) Standard of deferred payment
et @ & i a1 go1 o At w5 27
(A) e T e (B) e = v
(C) ¥&a 1 TIHR (D) TATTE ST & THH

11. Index numbers are economic barometers. Explain how? [3]
GeIehich 3T STTHTIRST Bid g ? THSIS hHl ?

N

12. Explain the meaning o @;}ela‘[ion. [3]

g @ ared WE&@%
@$

13. Giving an example explain how economic problem arises in an economy due to
'unlimited wants'. [3]
ITET o AHLATET Tk el Wiy % wwon i e 0 der A §

14. Define production possibilities curve. State its two properties. [3]
IeUTE HHTEHT &5k hl TR AU | gaeh! 3t fervtwam sargu |

15. Explain how demand for a given good is affected by change in prices of substitute
goods. [3]
auzms for ot aeg <Rt | Seeht wemTus aegeit it Hwd | ufteda @ FR gafed 2 2 |
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16.

17.

18.

19.

20.

21.

22.

23.

Show that average revenue of a product is also the price of the product. [3]

femmen 0 fort 3care =t sited T SER! hiFa W T |

An individual firm under perfect competition is price taker. Explain how [3]

qui uferenfiran # vk srhelt W hima Teliehrer Bt 8 | TuEsT |

Distinguish between closed economy and open economy. [3]
g STieTEEeN 3R Gelt refeaatyn # We i |

Name three instruments of fiscal policy. [3]
TR Hifd & @7 SueuT ST |

Explain store of value function of money [3]
HE o Yo d U i qHEse |

A consumer buys 20 units (@good ata price of Rs.5 per unit. The price elasticity

is (=) 2. When price cha&)@\e he buys 28 units. Calculate the new price. [4]
5 ®. afd gh1E W TH Tk w6 it 20 FeR1Eal Tl ¢ | hima @ () 2 @ | T i
Fgert @ at 98 28 Tigar @ | 7 i o uiteher hife |

$
A producer supplies 100 units of a good at a price of Rs.10 per unit. The price

elasticity of supply is 1. How many units will he be willing to sell when price falls by
one rupee per unit. Calculate. [4]

Uk 3euteek 10 w. ufe 3h1s W usk axg it 100 3etE S 2 | gfd i forma o 1 2 | afe fima
1 &. fir s a2 forat ZerTs =M &1 TR M | URehets iU |

Distinguish between explicit cost and implicit cost. Give an example of each.  [4]
T ANTA 3R 3AfTEd NI | 3{eR 918U | Yk i Ueh Ush 3aT2Y0T SINTU |
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24. Calculate Gross National Disposable Income (4]

25.

26.

27.

28.

(Rs. crore)
i) National Income 550
i)  Depreciation 30
i)  Indirect Tax 60
iv)  Subsidy 10
v)  Net current transfers to abroad -5
ket T T 3 BT ket T
(= ®.)
) g e 550
i) Hegs™ 30
i)  ATTL W 60
iv) il wgwEa 10
v) Tt Rt et e g ()5
Explain 'banker to the government' function of central bank. [4]

Hs Sk T TIHR T Sl hIE THEATSU |

Distinguish between revq:@ expenditure and capital expenditure of government.
Give an example of z@b [4]

TEHR % T 9 Wmﬁ SR FIRAT | TAF T Ueh Teh ISTE0T ST |
@Q
Q
Calculate first quartile.of daily wages of 11 workers. [6]

Wages (Rs)
300, 270, 210,250, 225, 230, 245, 255, 275, 280, 290

11 siferRi <t Gk ASTgl 1 T Tqeieh w1 UReReH ShIfTT |
Hgd (¥.)

300, 270, 210, 250, 225, 230, 245, 255, 275, 280, 290

State 3 positional averages. Also state any three properties of arithmetic average.|6]

3 feufa deielt sftad Sargu | ST |ieg ki i faviean o sargu |
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29. Show that two indifference curves cannot intersect each other. Use diagram. [6]
famamsu o <t omfamT o5k U R i TE e Hehd | FETH T TERT T |
For blind candidates only in lieu of Q No. 29
HAA GRCEH Tdiemia o fore w9a & 29 & T W
Explain why an indifference curve is (a) downward slopping and (b) convex.

AueE {3 U AT sk (a) el B 3R g dl 3R (b) SHAIE I g @ |

30. Define supply. Explain how 'prices of other goods' is a determinant of supply of

a good. Give example. [6]

gfd it uftara SR | TmemE R e srgett i B ot aeg B ofd @ i w9 E
31. Calculate GNPmp: (Rs. crore) |[6]

1)  Net factor income from abroad 5

i1) Compensation of employees 350

i) Employers contribution to social security 30

1v) Rent 200

v) Net indirect Tax 60

vi) Interest 150

vii) Dividends 20

viii) Corporate Tax 100

ix) Depreciation 35

x)  Undistributed profits 5

xi) Subsidy 10

GNPmp 1 ufehe ®® (T ©.)

i) T @ Fae wrs 5

i) ottt TR 350

iii) ﬁaﬁﬁw@mg&nﬁm 30

iv) Temmn @ 200

v) Frae sy = 60

vi) == 150

vil) e 20

viii) Fm 100

1X) YeagE 35

x) ifeafa ww 5

xi) i wgrmn 10

32. Given that MPC = 0.80 and investment increases by Rs. 200 crore,
calculate (a) value of multiplier and (b) increase in income. [6]
afe MPC = 0.80 2 3iR ffawt 200 =g . o1¢ J1an @ @, () 0T 1 Jed 3R (@) 3=
Jig 1 UReHEH HIT |
SISIS)
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